
1. lv0 = hv0 − hl0 = 2584, 7 − 191, 8 = 2393 kJ.kg−1

De même lv1 = 1317 kJ.kg−1

2. Transformation monobare : WAC = −ps0. (vl0 − [vl0 + xA.(vv0 − vl0)]) ≡ ps0.xA.vv0

QAC = hC − hA = xA. (−lv0)
∆uAC =WAC +QAC = xA. (ps0.vv0 − lv0)
Mais ps0.vv0 =

R.T0

M
donc ∆uAC =WAC +QAC = xA.(R.T0

M
− lv0)

3. ∆uCD = cL. (T1 − T0).
4. On a vA = vB donc xB =

vA − vl1

vv1 − vl1

≡
vv0

vv1

.xA

5. QAB =∆uAB .m = xA. (ps0.vv0 − lv0) + cL. (T1 − T0) − xB . (ps1.vv1 − lv1)
AN : QAB =∆uAB.m = xA. (ps0.vv0 − lv0) + cL. (T1 − T0) − xB. (ps1.vv1 − lv1)


